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注意事 項

＇ , 1 試験開始の合図があるまで，この問題冊子を開かないこと。

2 この問題冊子は表紙 ・白紙を除き 12ページである。落丁，乱丁，印刷不鮮明の

箇所等があった場合は申し出ること。

3 解答には必ず黒鉛筆（またはシャープペンシル）を使用すること。

4 解答は，各設問ごとに一つだけ選び，解答用紙の所定の解答欄の該当する記号を

塗りつぶすこと。

5 解答を訂正する場合は，消しゴムできれいに消すこと。

6 監督員の指示に従って，問題冊子の表紙の指定欄に受験番号を記入し，解答用紙

の指定欄に受験番号，受験番号のマーク，氏名を記入すること。

7 この問題冊子の余白は，草稿用に使用してよい。ただし，切り離してはならない。

8 解答用紙およびこの問題冊子は，持ち帰ってはならない。

受験番号

上の枠内に受験番号を記入しなさい。
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I . 次の英文を読み， 1 ~ 8の問題に最も適した答えを選べ。
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1. The reason trauma was called '·Railway Spine" is because
(1) 

A. the spine is shaped like a train track.

B. train accident survivors were studied.

C. most railway workers had spinal injuries.

D. transportation was not important for doctors.
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2. 下線部 "Traumatic Hysteria"の発症順序としてもっともふさわしいものを以
(2) 

下から選べ。

A. effects→ trauma→ idea 

B. idea→ trauma→ accident 

C. accident→ idea→ trauma 

D. trauma→ accident→ effects 

3. Choose the phrase that best fits (3) in the sentence. 

A. They occurred in both 

B . They occurred in every 

C . They occurred in either 

D. They occurred in neither 

4. Why were Hermann Oppenheim's colleagues opposed to financial support for 

soldiers with trauma? 

A. There were not enough hospitals to care for these soldiers. 

B. They believed Dr. Oppenheim's research had low scientific value. 

C. Compared to those soldiers, soldiers with bodily injury had stronger spirits. 

D. It was more expensive to support soldiers with mental injury than other 

mJury. 

5. breakthroughの結果として， militaryveteransが獲得しなかったものはどれ

嘉
A. medical care 

B. free education 

C. economic support 

D. understanding they had an illness 
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6. What does~ 辿ttImean? Choose the best answer. 
(6) 

A. care 

B. truth 

C. history 

D. fiction 

7. The last paragraph is not about 

A. how'、PTSD"could change to'、PTSI".

B. how effects of trauma can be seen with modern technology. 

C. how spinal injuries will be corrected medically in the future. 

D. how Dr. Oppenheim's ideas may be receiving more acceptance. 

8. 下線部(8)に対応する英訳の3番目と 6番目にあたる適当な組み合わせを選べ。

二_SL~ニ-ユニ~-
〔miracle,claim, patients, have, these, to, for, cures) 

③ ⑥ 

A these miracle 

B have for 

C patients to 

D cures claim 
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II. 次の英文を読み， 9 ~16の問題に最も適した答えを選べ。
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9. epigeneticsの研究対象として最もふさわしくないものを一つ選べ。
(9) 

A. How the experiences of parents impact their children. 

B. How the changes to parents'DNA cause the future risk of obesity of their 

children. 

C. How the changes to parents'DNA cause the future risk of diabetes of 

their children. 

D. How the experiences of parents cause heritable modification to nucleotide 

sequence. 

10. 2番目の段落でニュースでのエピジェネティクス研究の成果の伝え方として，

何が最も問題だと著者らは言っているか，当てはまるものを一つ選べ。

A. 母親以外の影響を誇大に伝えている。

B. 母親以外の影響を十分に伝えていない。

C. 科学的に誤った成果を誇大に伝えている。

D. 育て方についての情報を十分に伝えていない。

11. 研究成果の正しくない伝え方によって生じる問題として，著者らは何を懸念し

ているのか，最も当てはまるものを一つ選べ。

A. Reported results of research modify the actions of children. 

B. Reported results of research ignore the importance of mothers. 

C. Reported results of research lead to the right actions of people. 

D. Reported results of research increase surveillance and regulation of 

pregnant women. 

12. Choose the most appropriate synonym for recognizes. 
(12) 

A. defines 

B. debates 

C. changes 

D. aclrnowledges 
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13. Choose the most appropriate synonym for premature. 
U3l 

A. fast 

B. late 

C. slow 

D. early 

14. 本文中の complexityの内容として最もふさわしいものを選べ。
G4l 

A. 主に環境と追伝子が，疾患リスクに影響すること。

B. 幼児期の環境が，疾患リスクに影響すること。

C. 胎児期の環境以外の要因も，疾患リスクに影密すること。

D. 迫伝子の複雑なメカニズムが，疾患リスクに影響すること。

15. 下線部U5lに対応する英訳の3番目と 10番目にあたる適当な組み合わせを選

ベ゜
ニ ② ＊③ ④ ⑤ ⑥ ⑦ ⑧ ⑨ ＊⑩ 

_@_. 

〔solutions,than, for, this, the, need, societal, individual, changes, indicates, 

rather〕

③ ⑩ 

A need solutions 

B the individual 

C indicates societal 

D for changes 

16. 最後から 2番目の段落で，著者たちの主張としてふさわしくないものを，一つ

選べ。

A. 成果を複雑に伝えないこと。

B. 社会の役割にも注意を向けること。

C. 父親と母親の役割の影菩を両方強調すること。

D. 動物実験の結果を人間に簡単に応用しないようにすること。
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ill. 次の英文を読み， 17~25の問題に最も適した答えを選べ。
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17. 下線部 philosophical and religious principlesを言い換えるのに最も適当な語
1!71 

句を以下から選べ。

A. historians of Christianity

B . intentions of modern Europeans 

C. worlclview of medieval mapmakers

D. understanding of the New World people

18. What is the word closest in meaning to inherently?
(18) 

A. carefully

B. variously

C. incidentally

D. fundamentally
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c ev1secl? 19. What is the word closest in meaning to I 
(19) 

A. created 

B. rejected 

C. invested 

D. separated 

20. Why was the Mercator projection practical? 

A. It was used for centuries. 

B . It was used for directing ships. 

C. It was used to precisely depict area. 

D. It was used to stretch parts of the world. 

21. メルカトル投影法はどうして批判され始めたのか。その理由として最も王置旦

なものを以下から選べ。

A. 植民地だった国々が赤道付近にあったため。

B. 植民地だった国々が20世紀に独立し始めたため。

C. 植民地だった国々が新しい投影法を開発したため。

D. 植民地だった国々が実際よりも小さく表わされていたため。

22. Choose the best phrase for (22) ． 

A. in flat of 

B. in fear of 

C. in front of 

D. in favor of 

23. Choose the best word for (23) . 

A. in 

B. to 

C. for 

D. with 
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24. 下線部(24)に対応する英訳の 2番目と 6番目にあたる適当な組み合わせを選べ。

〔political,effects, that, could, issues, on, what, social, and, view, have〕

ーニ___QL~~~ニーニ星
_@_. 

② ⑥ 

A view issues 

B effects have 

C could view 

D that could 

25. What is the main idea of this essay? 

A. Maps accurately depict land size. 

B. Maps were invented in the equator. 

C. Maps are based on worlclwicle agreement. 

D. Maps have influenced our view of the planet. 
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